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COCTABHOE YPABHEHWUE
1. PaccTtaBnsem nopagok
16 (9 ) _|_ 8 — 10 ,D,GMCTBMM

” 2. Bblaensgem KOMMOHEHTI
ﬂ6 (9 X)F 8 = 10 npu nocnegHem OeENCTBUN

E

3. Kak HanTn Hen3BEeCTHbIN
KOMMOHEHT?

16 . (9 - X) — 10 - 8 4. 3annucbiBaeM peLleHne

16 X (9 - X) = 2 5. Cuntaem npaByto YacTb
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6. PacctaBngem nopsagok
16:(9-%)=2 i

0encTesunmn
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. 7. BbigensieM KOMMOHEHTbI
[E' K9 5 X)]: 2 Nnpu NocrieaHem OencTBum

8. Kak HanTn Hen3BeCTHbIU

KOMMOHEHT?
0-x=16:2 9. 3anuceiBaem pelueHne
0-x =8 10. CuyuTaem npaByto 4YacTb
Xx=9-8 11. Pewuaem npoctoe
x =] ypaBHEHNE
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16;(9-1)+8:1() 12. Nlenaem npoBepky

S
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5 ) . COCTABHOE YPABHEHUE
16 :(9-x)+8=10 1. PaccTaBnsieM nopsiaok AeicTBuii
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16 (O - < §+_8 10 2. Bbigensaem KOMMNOHEHTbI Npu

nocrnegHem OencTBmmn
3. Kak HanTy Hen3BeCTHbIN KOMMOHEHT?

16:(9-x)=10-S8 4. 3anucbiBaem peLLeHve

16:(9-x) =2 5. CunMTtaem npaBsyto YacTb
16 ? (9 1_ X) — D 6. PacctaBnaem rnopsaaok 4encTeum
@; 2[(9 1_ X]) _ > ;.eI;le,céeMJ;ﬂeM KOMMOHEHTbI NPY NOCeaHeEM
8. Kak HaTn HENM3BECTHbLIN KOMMNOHEHT?
(O-x)y=16:2 9. 3anucbiBaem pelueHme
(9 - X) — & 10. Cuntaem npasyto 4acTb
x =90 — & 11. Pewaem npocTtoe ypaBHEHUE
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12. [lenaem npoBepKy



TecT

x:3=90 (2-|—X)5=3O
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x=27
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L EN=0
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(2+x)-5=30
24+x=30:5

2+x=6
x=6-—-2
x=4

[lpoBepka:

(2+4)-5=30
30 =30




x:3=90 (2+x):-5=30
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x=9-3 24+x=06
X — xX=6—2
[1poBepkKa: x=4

[1IpoBepKa:
27:3=9  (244).5=30
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